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The business landscape is rapidly changing in the face of new technology,
global pandemics and financial crises.

As a business, you might not have the time, As an academic, you have the expertise to make a
resources or expertise to address these difference and real world impact, but might not have
challenges and implement profitable change. the network to apply your knowledge in practice.

This is where Knowledge Transfer Partnerships
(KTPs) come in, connecting businesses and
academics to improve industry together.

A KTP is a collaborative project involving:
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to create strategic and profitable
change within the host company.
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Find out more

ko https://bit.ly/

If you're an academic, business, graduate or L - .
postgraduate, you can find more information about K ‘lﬁﬁ: KTP-warwick
KTPs on our website or by scanning this code. E Tt o' B


https://bit.ly/KTP-warwick

